
Счёт десятками
Петерсон Л.Г. 1 класс.



Закрепление нового 
материала

• Работа  с задачами



№3-а с.46

9 д т.

3 д т.2 д т.

2    1 остал
. ? д. т.

Решение

9д – 2д – 3д = 4 д (т.)
Ответ: 4 д тарелок.



№3-а с.46

3д п.+ 4 д п.

6 д п.

продали осталось
?д п.

Решение
1) 3д + 4д = 7д (п.) - всего
2) 7д – 6д = 1д (п.)
Ответ: 1д пирожков.



№4-а с.47

5д ор.

5д – 4д = 1д (ор.)
Ответ: на 1д  орехов.

Решение

2

?д ор.

4д ор.

1



№4 (б) с.47

2 д 
т.

?д т.

3д т.

К.

Л.

Решение
1). 3д + 2д = 5д (т.)- в линейку
2). 5д + 3д = 8д (т.)
Ответ: 8 тетрадей.

?д 
т.



СПАСИБО ЗА 

УРОК!


